
https://www.geekcert.com/98-366.html
2024 Latest geekcert 98-366 PDF and VCE dumps Download

 

 

 

98-366Q&As

Networking Fundamentals

Pass Microsoft 98-366 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/98-366.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Microsoft
Official Exam Center

 

 

98-366 VCE Dumps | 98-366 Practice Test | 98-366 Exam Questions                                1 / 4

https://www.geekcert.com/98-366.html
https://www.geekcert.com/98-366.html
https://www.geekcert.com/98-366.html


https://www.geekcert.com/98-366.html
2024 Latest geekcert 98-366 PDF and VCE dumps Download

QUESTION 1

This question requires that you evaluate the underlined text to determine if it is correct. IPv4 multicast addresses range
from "192.168.0.0 to 192.168.255.255". 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed" if
the underlined text makes the statement correct. 

A. 127.0.0.0 to 127.255.255.255 

B. 172.16.0.0 to 172.31.255.255 

C. 224.0.0.0 to 239.255.255.255 

D. No change is needed 

Correct Answer: C 

Class D is multicast. 

Class A: 0.0.0.0 - 127.255.255.255 Class B: 128.0.0.0 - 191.255.255.255 Class C: 192.0.0.0 - 223.255.255.25 Class D:
224.0.0.0 - 239.255.255.255 

 

QUESTION 2

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point. 

Hot Area: 

Correct Answer: 
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QUESTION 3

What is an example of a Layer 3 device that connects multiple computers and networks? 

A. Packet 

B. Repeater 

C. Switch 

D. Router 

Correct Answer: D 

A router is a layer 3 device, although some newer switches also perform layer 3 functions. 

 

QUESTION 4

This question requires that you evaluate the underlined text to determine if it is correct. 

An ICMP ping message is sent at the application layer of the OSI model. 

Review the underlined text. If it makes the statement correct, select "No change is needed." If the statement is incorrect,
select the answer choice that makes the statement correct. 

A. network 

B. transport 

C. data-link 

D. No change is needed 
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Correct Answer: A 

 

QUESTION 5

This question requires that you evaluate the underlined text to determine if it is correct. 

A network that separates an organization\\'s private network from a public network is an extranet. 

Review the underlined text. If it makes the statement correct, select "No change is needed." If the statement is incorrect,
select the answer choice that makes the statement correct. 

A. a perimeter 

B. an intranet 

C. the Internet 

D. No change is needed 

Correct Answer: A 

98-366 VCE Dumps 98-366 Practice Test 98-366 Exam Questions

Powered by TCPDF (www.tcpdf.org)

98-366 VCE Dumps | 98-366 Practice Test | 98-366 Exam Questions                                4 / 4

https://www.geekcert.com/98-366.html
https://www.geekcert.com/98-366.html
https://www.geekcert.com/98-366.html
http://www.tcpdf.org
https://www.geekcert.com/98-366.html
https://www.geekcert.com/98-366.html
https://www.geekcert.com/98-366.html

